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POLITICAL SCIENCE
( General )

( Political Theory—II )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamesé

1. Answer the following as directed : 1x7=7

Tore fMEIRs Ao sk e fin

fa) Who is the father of Scientific Socialism?
GRTAT IR G (I ?

(b) is the author of the book,
On Liberty.

( Fill in the blank )

On Liberty 2937 o5 (

(8 o2 o9 F)
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(c)

(@)
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(2)

Who used the term ‘ideology’ for the first
time in 17967

() Antoine Destutt de Tracy
(i) Karl Marx
(iiij) Aristotle

( Choose the correct answer )
yapy BS CMAYE A SR’ */=ch
2R e 2

(i) 5% cooog O @
(i) el Sl
(i) <Re’%=
( o= Tahr T1fo Sferea )

“Democracy is the government in which
everyone has a share.” Whose definition
is this?
(i) Barkar
(i) John Seely
(iij) Dicey

( Choose the correct answer )
“51‘1@ m Wﬂm @
599[ 1” &F SRIDI I ?

(i) IR
. (i) s
(iii) ©iRfo

( Continued )

(3)

(e) Development is closely related to
technology.
( Write True or False )
R SR oS eoTATTeIA HTS |
(3751 (A wprar o)
() Mention the name of one book written
by Gandhiji.
STREICE B @3 [Forer w1 S 990 |
(g) Write the full form of UNDP.
UNDP-Y sjef Fofco1 fordt |
2. Write very short answers (any four) :
wf oY Tex B (R e sifkot)
(a) Write two drawbacks of liberalism.
TAORMA o1 o ford |
8A/679
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(4) (5)

3. Write short notes on any three of the

(b) Write the names of two elitist thinkers. following : 5x3=15
& o B am o | o FRARR R @ RfBR evre 55 G fora
(a) Classical liberalism
(c) Write two conditions for the success of £ °
democracy.
TeFd AFT o1 56
R o1 5% forat (b} Indirect democracy
AT TS

(d) Mention two theories of Marx.
{c) Sustainable development

T3 E'B] g SrEy ¥
I Rem
fe) Give two arguments in favour of (d) Human Development Index (HD])
Gandhism. T R i
SRR JefCE 701 IS faan |
(e} Pluralism
I
() Name two thinkers connected with the
debate on the End of Ideology.
SR S R R i s o (f) Non-violence
BIRT T Bl | Rt

8A/679
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(@)

(b)

8A/679

(6)

4. Answer the following questions :
oo Al ARy Bes fn

Write a note on the modern concept of
liberalism. 10

HYfAE SRR 8o S «ff G By |

Or/ %<7

Discuss the basic features of the Marxist
theory of democracy. 10

T T TR AFE T aPEe
o 41 |

What is development? Explain Gandhian
model of development. 2+8=10

e & 2 TRAIKT SR 3% T 9

Or/=11

Analyze the pluralist theory of
democracy. 10

quﬁ?@ﬂﬁ%%ﬂ‘fﬂl

{ Continued )
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(7))

() What do you mean by Swaraj? Describe
the Gandhian concept of Swaraj. 2+8=10

& e B T2 TRER T e
{RECH! A 41 |

Or/9q1

Discuss Marxism as an ideology. 10

S fRBIR NI ST 470 |
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